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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.

Answer any seven out of ten. e2Hizl sISURL Uld-l sxaALsL 2L
Differentiate plain scale and diagonal scale.

AUIEL 256 A 510 E5AAL dlad 52U

Draw conventional symbol. (i) barbed wire fence(ii) road bridge.
YU Udls 211, (1) si2tl diz<l qug (i) 1ol ya.

Write R.F. of a line drawn 30 cm showing 90 m

30 A.HL 2iRell 244 5y 90 Hl 22ld 2 Al Al U215 QUi

Explain declination
3seqdgdd AHmal
Write two uses of GPS.

GPS 1 6 Guioll dvil

State different types of benchmarks. Explain any one.
(4035 Us12eAL ol syRUAL 515 215 UHMAL

Define the terms (i)vertical plane(ii) level surface
UL UL (1) G, d4(ii) dad AuiZl.

Write use of trough compass.

25 SUlA-L GUALIL QUL

Write use of alidade.

wdl3s Al Guala gvil

List different types of leveling staff used in leveling
da(daHi GuAoML ddldl (4[5 Us1L 2215 <il A1£] 2414l

Explain Chaining on sloping ground.
Aol syl uz 25 (<01 uHmAl.,

OR
Define “Ranging”. Explain “Reciprocal ranging” by neat sketch.
“Reopa” o1 Pid 520 s 25U 2AIRL “WRURs 2Ueoral” uuamdl,

Explain with neat sketch diagonal scale.
25 A1 50 254 UHMA,
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Construct a plane scale 1 cm to 3 meters and show on it 48 meters.

1 AHl=3 Hl22 lrad 25d oldlal 24 ddl 42 48 Hl22 aql.

A survey line measured with a 20 m chain was found 941 m . As a check

this line was again measured with a 30 m chain & it was found 952 m
When the 20 m chain checked with a standard chain ; it was found 5 cm too

long. Find the true len gth of 30 m chain.
20 #l 4iso A12 HuaHi 2096 245 A4 Al 941 Hl gl dwi s3dl quid vl s
30 Hl2z-l isor A1 521 Hruaml 204l sdl AR d 952 2z 1ol sudl 214 sz 20
Hl A0 UM Aisn U1 AWML 2Udl A 5 A4 94 sdl30 Hl Aisodl 2l

Aoyl il

OR

The distance between the points measured along a slope is 428 m. find the
horizontal distance between them if ,
i) Angle of slope between the pont is 8°.
i) Difference of level is 62 m.
215 410 QUE] sxHl Uz 6l [Bigull 422 HInHL HILAidR 428 HL. SIS dl d ol [bigail 424

214 2idR LIEL o741,

i) ol [bigatl 422 2410 82 [l 9.

i) Al 422 < B vid2 62 | £,
The followingMagnetic bearing of the lines observed ,and declination is
given Find the true bearing of lines

MAGNETIC
Line BEARING DECLINATION
AB 50°0° 2°E
BC 80°0° 5°W
CD 220°0° 3°E
DA 290°0° 5°W
219dis 536l cllZlotid groilsa ool 214 saanq-dlA Horo 9, elZlutid w1y oilZo
UM,
MAGNETIC
Line BEARING DECLINATION
AB 50°0° 2°E
BC 80°0° 5°W
CD 220°0° 3°E
DA 290°0° 5°W

OR

Following are the included angles for a clockwise closed traverse ABCD.
Find the bearings of lines ,if bearing of AB is 60°.

Station Angle
A 130°10°
B 90°08’
C 70°22"
D 69°20°

Al [2auHi ofs 2192 Wiz AHLER w12 Hovor 89, el2lziiqlL oZox M, ool
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AB 4.61[32 602 s

Station Angle
A 130°10
B 90°08"
C 70°22
D 69°20

Explain temporary adjustment of Prismatic compass.

[(M2HZLs s¥ULA AL GUHL AHALSY A 4 A1,
OR
Define the terms. i) Axis of telescope(ii) Line of collimation iii) Height of
Instrument
el 2L T) 2(azsiudl via (i) stlafMaddl aid- iii) Seeghe-l Gu1s.,
State and explain the methods for interpolation of contours.
AU 301l Se2Uld el Uz (doil orRldl A AHMdl

OR
Give difference between Internal and External focusing telescope.

2idRs 21 oUEL 51501 22504 422l 5194 2L
Following reading were taken with level. 1.255, 1.565, 2.695, 3.580, 2.085,

2.895, 3.125.Level was shifted after fourth reading. Calculate R.L. all points

by H.1 method. Apply check. R.L. of first point is50.0 m.
AL i 215 daldol 1A HL AL BAUAL GAL.

1.255, 1.565, 2.695, 3.580, 2.085, 2.895, 3.125. AL dia- usdl 444 24ldidRd
521 21, ¢d, HoI ugald 2121 oS ezl 20244, <l ooidl 52l 2s dlo) 520 uau

(Bigl 22,214, £9 50.0 #l.

OR
Describe reciprocal leveling.
2[Auisd daldoL wrondl,
Explain characteristics of contours.
UHIzALAL QrafBisdlil demal.

OR

Explain block contouring.

6@y 523091 HHMAL,

Explain temporary adjustment of a level.
Aqd < SolHL AHLUSK A U4,

OR
Differentiate HI method and Rise and Fall method

22215, Uk 2iel DB g 1A HagA el 52

Convert following in R.B.
i) 130°10°
i) 40°30°
iii) 290°50
iv) 245°20°
R.B. 4l 524l
i) 130°10°
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i) 40°30°
iii) 290°50
iv) 245°20°
OR
Explain local attraction ,its causes ,detection and how it is corrected

2[5 2415901, Al 51260, A 24 d 54 d QEUAHL U 9 d QUL

The following bearings were observed while traversing with a compass where
do you suspect local attraction ,correct it and find included angles.

Line FB BB
AB 75° 2550
BC 116° 296°
CD 165° 347°
DE 226° 42°
EA 303° 1250

531, 412 293 52 Avtd |2l ol[2ou sxial Hull ¢dl swi dxa 2alds visie] st

£9, del YA il UHUAR BLL AL

Line FB BB
AB 75° 2550
BC 116° 296°
CD 165° 347°
DE 226° 42°
EA 303° 1250

State and explain the methods of orientation in plain table survey.
ALEL 201 AABRHL 22204 Hizell ugid2il sxpial vid Al
Write short note on Global positioning system

afsas [Rafd Rzzn uz 28l s auil,

Differentiate Plane & Geodetic survey

el 2 DU [25 U 429 2idR sy,

State methods of plane table survey, explain any one.

AULEL 2048 AAE0LAL ugs Aol dvl, SISURL 245 AHMAL
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